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0,0 0.2 04 0.6 0.8 1.0 Buntheit (A*g, B*)
CG671-1A_6 CG671-2A_6

T C=2,V=1,2,5,8&9, T-10
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ay=0,000,b,,=0,000 T ay=0,000,b,,=0,000
a3 4=0,014,b; 4=-0,008 a,4=0,014,b; 5=-0,008
Munsell-System Y,,=100, Munsell-System Y,,=100,
C=2,V=1,2,5,8&9, T-10 C=2,V=1,2,5,8&9, -10
Buntwert (Ag, B3) Buntwert (A4, By)

CG670-5A_6 CG670-6A 6
Xw=96,79,Y,,=100,00Z,~111,46 B, Xw=96,79,Y,,=100,00Z,~111,46 B,
X=0,3140y,,=0,3243 10 %y=0,3140y,,=0,3243 10
As=(a5~[as ntas atas v]) Y Ag=(3g=[86 ntag atas v]) Y
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n = Mex -10 10 n = Mex -10 10
ay y=ag(Y/Y1g-1) ex 3 y=ag,(Y/Y1g-1) ex
by v=boy(Y/Y1g-1) by y=boy(Y/Y1g-1)
a570,000,b,,=0,000 T a5,20,000,b,=0,000 T
ay x=0,014,0; 5=-0,008 ay x=0,014,6, 5=-0,008
Munsell-System Y,,=100, Munsell-System Y,,=100,
C=2,V=1,2,5,8&9, T-10 C=2,Vv=1,2,5,8&9, T-10
Buntheit (A, B*) Buntheit (A*,, B*,)
CG671-3A 6 CG671-4A 6
X,=96,79,Y,,=100,00Z,~111,46 B*, X,=96,79Y,,=100,00Z,~111,46 B*
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